vvvvvv

G R i "R
G| s g | REPE | pkaa | o | EUE e
2 k 0
(mm) | (mm®) (kN) (MPa) (GPa) o0 %)
12845 0.26
9.5 1 109+4 1536161 (114+4) 1.240.0 0. 02
# 2-2 ~# 3 #rie * 2. CPRP bar s=ém{d 5 71
BT %o - o S| ¥To %
v F# = #
(in) | (in®) | (1b/ft) (mm) | (mm®) | (kg/m)
%3 0.37 | 0.11 0.10 #10 9.5 71 0. 142
14 0.500 | 0.20 0.17 #13 12.7 129 0.266
%5 0.625 | 0.31 0.25 #16 15.9 200 0. 398
%6 0.750 | 0.44 0.41 #19 19.0 285 0.602
#8 1.00 0.79 0.70 #25 25.4 507 1. 044
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4 9-3 AFTG TR H 2

-~

CFRP bar z_ 4=+ #1+

—:‘;Lt—‘_;_l-;}iai *}E_‘g\! g ’]i’«\
WA | B EE| BB R e T
i A B |
g
Er Fu ffu ffa E fu
mm | 1n | GPa | Ms1 | MPa | Ksi1 | MPa | Ks1 | MPa | Ks1 % B
#10 | #3 | 42 | 6.1/689(99.9|614| 89 |172| 25 |1.80/0.27
#13 | #4 | 42 | 6.1 617 90 | 569 | 83 | 181 | 26 |1.80/0.27
#16 | #5 | 42 | 6.1 674 198.9(600| 87 | 164 | 24 |1.80(0.27
#19 | #6 | 42 | 6.1 | 719 <1105 | 6407.93 | 158 | 23 |1.80(0.27
#25 | #8 | 42 | 6.1 158 | 23 [1.80(0.27
#.2-4 w373 #7ié * 2 CFRP bar%* # & /& 742
90° % 180° 90° % 180°
BAaBE T Fatke g
& = ol A A BT
(in) (mm)
(in) (mm)
#3 0.375 2.87H %10 9.5 73
#4 0.500 3.313 #13 12.7 84
#5 0. 625 6. 063 %16 15.9 154
#6 0. 750 8.87H #19 19.0 225
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2.9-5 A4T % #ri¢ * 2 CFRP bar® &

WE £ & i K=0. 80

LR FH

Raki | #EER BAtE | §OE &
=4 1l
& (in) (in) & (mm) (mm)
#3 0.375 6.0 #10 9.5 150
#4 0. 500 7.5 #13 12.7 190
15 0.625 9.0 #16 15.9 225
%6 0. 750 12.0 #19 19.0 300
£9-6 kik BB ok g [T]
¥Rk m?/ﬁ’c
= A FOR ik TEE
5 R K
CsS v R YR % %
C2S il [ A8 REPE [
CsA+CSH: - - a8 P
CsAF+CSH: ¢ R vOR (" L
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22T Bk Fr ki 2 32 2 L [7]

¢ R PR
R $i 5% | ME | d
S
CsS(%) 50 45 60 25 40)
CS(%) 25 30 15 50 40
CAC%) 12 7 10 5} 4
CAF (%) 8 12 8 12 10
CSH2( %) 5} 5} 5} 4 4
fm B BBk
350 350 450 300 350
(m’/kg)
1 XU » E 7 6 14 3 6
MPa(psi) (1000) (900) (2000) | (450) (900)
ki |
330 250 500 210 250
(7 =, J/g

£2-8 v prP RIEMELE L R MEE - T4 [5]

32 % 2 (mm)

B iR Sl

50
100
CFRP bar(9. 5mm ¢ ) 150
200
300

4

50
100
4 55 (11. 3mm ¢ ) 150
200
300

DO DD DO DN DN s & & &
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£2-9 kv ERRESHK RS et [5]

K (W), kg 170
KA (C), kg 340
W/C 0.5
w1, kg 880
Fe ¥ 4, kg 1040
R 120
TF 7% 2.0
% B, kg/m’ 2380
PR 5 &, MPa 34
8% ##kc, GPa 29

%ZﬁOéﬁﬂQ&m¢WW§ﬁLﬁ

ERpHGER RS [5]

BEELR B A4 g BEAERERA
RS

(mm) (kN) (MPa)

50 29.9+1. 8 20. 041. 2 4
100 H3.5+3.5H 17.9+1. 2 Pl i
150 75.6+4.9 16.6%1.1 Pl i
200 107.0+7. 7 18.9+1.4 Pall 2
300 101.8+10.4 11.941.3 I %7
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%2-11 = [F*Je P11.3mmep 4 52 L fare Yy £ R P HGER TS S [D]
»ELRE e L A B ERRA
p 2 e
(mm) (kN) (MPa)
50 43. 6+4. 8 24.612. 1 0
100 53.8+1.7 15.2+1.0 F N PR
150 55.1+4.9 16.6%1.1 % R
200 48. 1+2. 3 6. 8+0.5 % R
300 50. 843. 2 4.8+0. 3 % R
% 2-12 = )I? P CFRP % E & B 323 e e gz @ [5H)
CFRP bar JII'E;JT— ?I;i Ei Ldt/ze Ldepr
Ldthe/Ldepr
® /& (mm) (MPa) (mm) (mm)
9.5 1536 744 215 3. 46

e

Lane="3 B & B2 %1

|

e

|

Ldepr:’;f E“; £ E{ '? ,‘5@ i
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% 3-1 Aidshz L R

Ryt sk (PSI) 4000
AR (C) W & > 100> 200 > 300

A 1Y AE & HoRL e 3 6
10~13~16~20+~25
® /& (mm)

BRI AF & PR e H
2

Wy LR 49 ~8¢ ~12¢
F 3-2 AEBRATIR H R GED Feot TR
57 % 3 & (PSD) 4000
kik (kg) 308
% % (kg) 77
¥ 41 (kg) 750
e ¥ 4 (kg) 1010
k (kg) 178
7 4 & TYPE G(kg) 3.1
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%41 PR E 2 B

ny LR
4 ¢ 8¢ 12 ¢
E /2 (mm)
o0 4 4 ¥R
0 ST F 0 o 100°C
P ST Bom AR 4 pc | 200°C
Ao A4 R | oo AR A g | B AR 4 e | 300°C
o0 4 4 R
3 £ 4 4 100°C
Bm AR A g | B AR X pe | B e A4 g 200C
Be AR AT | B e AE4 T | B G A% 4 pe | 3007C
£ F 4 ¥R
" PN B 7] B 3| 100°C
Ao AL pe RS AR e | g 29 4 pe | 200°C
fi AR | G M e | R AR 4 p | 300°C
F a1 +. 4 R
% B ) B2 B 5 100°C
Foo A4 R | Bo a4 RT | Be A4 p | 200
Foo A4 R | B o a4 e | B e a4 e | 300
F 0 4 3 ¥R
o EF ) B %) BF 100°C
Fm AR A | P dbv 4 pe | B oAb 4 pr | 200°C
Fm AR AP | P Ab 4L pe | B oAb 4 pr | 300°C
H
b 2 8B Liag B R Al PHERLAERR A2

EulpLp : &2 3

Broo 2 & Pt

%

s
%n\-

=
w
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#4-2 B3 LR G AL FRPERBHRZFTELE 204 (D

Se AR N o o o
o ' (4 100°C 200°C 300C
2 /& (mm)

10 0.63 0.36 0.16 0.07

13 1.26 0.76 0.43 0.13

16 2.23 1.38 0.83 0.26

20 3. 30 1.98 1.11 0.34

2h 4. 39 2. 66 1. 31 0. 44

%4-3 BE LR 582 FRPIEEFRE F¥ iR 2 x4 2(D)

4r éﬁ'/ﬁ" ST <) o o
Lo ’ ¥R 100°C 200°C 300°C
E /2 (mm)

10 1.55 1.05 0.60 0.17

13 2.98 2.03 1.22 0.43

16 h.04 3.67 2.22 0.76

20 7. 27 h.10 3.12 1.12

2h 10. 33 7.03 4. 00 1.44
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244 By ERG 1292 FRPERFR SR TE L&A 2014 2(T)

‘4t$ﬁ:‘/‘w N2 (o] [e) O
LT ¥R 100°C 200°C 300°C
2 42 (mm)

10 2.39 1.62 1.08 0.39

13 4. 65 3.07 2. 20 0.75

16 8.02 6. 28 3.76 1.35

20 11.18 8. 60 h.h4 1.84

25 15.70 11.23 7.44 2.69

%245 BE LR A)2TRPEFERZRHREF 2 < HFERE L (kef/cem’)

de VR B

_ ¥R 100°C 200°C 300°C

2 7% (mm)

10 50. 17 28. 40 12. 35 h.47
13 59. 54 3h. 80 20. 20 5.95
16 69. 31 42. 87 25. 87 7. 96
20 65. b6 39. 48 22.00 6. 81
2D 55. 90 33. 89 16. 65 h.64
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%4-6 2% LR 8P 2TRPIFERZFH E5 T2 HFEREY (kgf/cn’)

4 ’-%LL/E. 2 o o o
oo ‘ ¥R 100C 200C 300C
/& (mm)

10 61.77 41.71 23. 94 6. 75

13 70.13 47,74 28.775 10. 10

16 78. 31 57.04 34. 43 11. 82

20 2. 33 50. 69 31.06 11.14

29 65. 73 44,73 25. 47 9.15

24-T1HEER 1202 TRPERFHREF"TIF2 B~ R R4 (kgf/cm’)

Se FUR R , . . .
Lo ¥R 100C 200C 300C
2 /& (mm)

10 63. 34 43.09 28.57 10. 23

13 72. 89 56. 02 34.54 11.71

16 83.10 65. 04 38. 92 14. 00

20 74.11 57.01 36. 76 12. 21

2h 66. 63 A7.67 31.59 11. 42
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%4-8 ¥ETFRPREE L RS 12¢ 2 €& =B HH 250

E 4% (mm) x==# (mm) y=§*£ (T)
10 y = —-2.6135x" + 4.8586x + 0. 0545
13 y = -3.075x" + 8.1203x + 0.1241
16 y = -2.1433x" + 7.9726x + 0.8101
20 y = —2.4495x" + 9.7361x + 1.2947
25 y = -3.7385x" + 14.232x + 1.2643

% 4-9 100 C™ FRP = E & & 5 12¢ 2 §%& & =8 figi > 23

2 /2 (mm) x= =4 (mm) “y=gv& (1)
10 y = -0.5818x" + 2.8296x — 0.0788
13 y = -1.8002x° + 5.2679x - 0.0881
16 y = 0.4997x* + 2.8551x + 0.5554
20 y = -3.5387x" + 11.231x - 0.4611
29 y = 1.4047x* + 5.0809x - 0.1592
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% 4-10 200 CT FRP = ¥ £ & 5 12¢ 2 €& =M k> 425

E % (mm) x==# (mm) y=9£ (T)
10 y = 2.9361x° - 0.709x + 0.1306
13 y = -0.428x" + 3.1444x - 0.0157
16 y = 1.0361x" + 1.4125x - 0. 2246
20 y = -0.5233x° + 5.5948x - 0. 231
29 y = 0.2296x% + 7.384x =.1.1365

% 4-11 300 C™ FRP 3 B &R 5 12¢ 24" &€ & =8 i85 = A2 5

2 4% (mm) x==#(mm) y=§*£ (T)
10 y = —7.3524x" + 3.5395x - 0. 0206
13 y = —-3.7291x* + 4.2472x - 0. 0601
16 y = -2.9395x" + 5.8414x - 0. 0601
20 y = -3.526x" + 7.6953x - 0.125
25 y = 8.9976x" + 1.0571x + 0. 0519
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